Division par Puissances de Dix (D)

Trouvez chaque quotient.

6,61 1000 = 51-+100=
9,05+ 100 = 5,418 - 100 =
7,972 - 100 = 5,752 -1 000 =
3+1000= 2,419 -1 000 =
7,725 - 10 = 6,116 -1 000 =
1,9 +100 = 5,9383 - 100 =
2,44 - 100 = 2,7939 - 10 =
7,3413 =+ 10 = 6,416 -1 000 =
7,782 +1 000 = 8,62 +1000=
51936 + 10 = 9,9818 -1 000 =
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Division par Puissances de Dix (D) Solutions

Trouvez chaque quotient.

6,61 +~1000=0,00661

9,05+ 100 =0,0905

7,972 +-100=0,07972

3+1000=0,003

7,725 +10=0,7725

1,9 +100=0,019

2,44 +-100 = 0,0244

7,3413 +-10=0,73413

7,782 +~1000=0,007782

51936 +-10=0,51936

51-+100=0,051

5,418 +- 100 =0,05418

5,752 +-1000 =0,005752

2,419 +-1000=0,002419

6,116 +~1 000 =0,006116

5,9383 =100 =0,059383

2,7939 +-10=0,27939

6,416 -1 000 =0,006416

8,62 +1000=0,00862

9,9818 = 1000 = 0,0099818
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